
Assemble basket #2 to center pole #4 with bolt #5. Insert set screw #6 
and tighten.

Insert the top #1 to the top of the center pole #4 and tighten with bolt #5. 
Insert set screw #6 and tighten.

6 5

6 5

6 5


